



3100 Camp Road • Oviedo, FL 32765

SALES QUOTE

Document Numbers	QTE00023758 / Master 39843
Document Date	12/17/2020
Customer ID	HAYW001
PO Number	
Payment Terms	NET 30
Job Name	Haywood County
Customer Tax ID	

Quote expires on 3/17/2021
Reference Quote Number When Ordering

BILL TO

Haywood County Detention Center
1620 Brown Ave,
Waynesville, NC 28786
United States

Contact: Lt. Bruce Abbott
Phone: (828) 346-2901

SHIP TO

Haywood County Detention Center
1620 Brown Ave,
Waynesville, NC 28786
United States

Contact: Glen Matayabas
Phone: (828) 452-6768

Item Number	Ship. Mthd.	Qty.	Unit Price	Ext. Price
CTR-X12-AC-08-2EFH-001-RFC <i>NEXUS Series controller; X12; 8 IO; RF Comm; 2 Combie, Flush, Hot; Standard New node list</i>	UPS GND	28 Each	\$717.87	\$20,100.36
TRS-PI-120V-28V-1.5A <i>Transformer; Plug-In; 120V input; 28V output; 1.5A; 10' lead</i>	UPS GND	26 Each	\$36.52	\$949.52
VLV-FVL-3801-E3-0914-002 <i>MOMENTUM Flush valve; Retrofit; Std elbowed w/ std tailpiece; NPT; 1"; W/ TruFIREVAC solenoid</i>	UPS GND	54 Each	\$161.45	\$8,718.30
VLV-LAV-4834-0914-002 <i>ELEMENT Manifold; Lav; AC; w/ flow compensating regulator; Cliip style; Quad</i>	UPS GND	13 Each	\$469.81	\$6,107.53
WR-SLD-WT-24VAC-4C-006 <i>Cable; 24VAC; Solenoid; 006'; Black Water-Tight Connector *** This item is eligible for quantity discounts! See below for details. ***</i>	UPS GND	135 Each	\$4.47	\$603.45
WR-SLD-WT-24VAC-4C-015 <i>Cable; 24VAC; Solenoid; 015'; Black Water-Tight Connector *** This item is eligible for quantity discounts! See below for details. ***</i>	UPS GND	28 Each	\$12.65	\$354.20
SEN-1601-002 <i>TruTOUCH Sensor; Assembly; w/ LED; with 2' Water-Tight Lead, nut and washer *** This item is eligible for quantity discounts! See below for details. ***</i>	UPS GND	57 Each	\$77.11	\$4,395.27
WR-SEN-WT-6C-006 <i>Cable; LED Sensor; 6 Conductor; 006'; Gray Water-Tight Connector; Gray 6C jacket *** This item is eligible for quantity discounts! See below for details. ***</i>	UPS GND	29 Each	\$5.65	\$163.85
WR-SEN-WT-6C-015 <i>Cable; LED Sensor; 6 Conductor; 015'; Gray Water-Tight Connector; Gray 6C jacket *** This item is eligible for quantity discounts! See below for details. ***</i>	UPS GND	28 Each	\$15.18	\$425.04
SEN-1501-002 <i>TruTOUCH Sensor Assembly; Standard; with 2' Water-Tight Lead, Nut & Lock Washer *** This item is eligible for quantity discounts! See below for details. ***</i>	UPS GND	114 Each	\$52.10	\$5,939.40

We're just a phone call away!
Voice: (407) 365-6241 • Toll-Free: (800) 240-3578

Visit us online at: <https://www.i-con.com/>



3100 Camp Road • Oviedo, FL 32765

SALES QUOTE

Document Numbers	QTE00023758 / Master 39843
Document Date	12/17/2020
Customer ID	HAYW001
PO Number	
Payment Terms	NET 30
Job Name	Haywood County
Customer Tax ID	

Quote expires on 3/17/2021
Reference Quote Number When Ordering

BILL TO

Haywood County Detention Center
1620 Brown Ave,
Waynesville, NC 28786
United States

Contact: Lt. Bruce Abbott
Phone: (828) 346-2901

SHIP TO

Haywood County Detention Center
1620 Brown Ave,
Waynesville, NC 28786
United States

Contact: Glen Matayabas
Phone: (828) 452-6768

Item Number	Ship. Mthd.	Qty.	Unit Price	Ext. Price
WR-SEN-WT-4C-006 <i>Cable; Sensor; 006'; Gray Water-Tight Connector; Gray 4C jacket</i> *** This item is eligible for quantity discounts! See below for details. ***	UPS GND	57 Each	\$4.59	\$261.63
WR-SEN-WT-4C-015 <i>Cable; Sensor; 015'; Gray Water-Tight Connector; Gray 4C jacket</i> *** This item is eligible for quantity discounts! See below for details. ***	UPS GND	57 Each	\$12.32	\$702.24
MHW-VB-5011-VBN <i>Vacuum Breaker Part; Nut; Vacuum Breaker to Flush Valve; Rough Brass</i>	UPS GND	52 Each	\$8.04	\$418.08
MHW-VB-5011-VBR <i>Vacuum Breaker Part; Repair Kit; Rubber; w/ friction washer</i>	UPS GND	52 Each	\$2.63	\$136.76
MHW-VB-5011-VBT-13 <i>Vacuum Breaker Part; Tube; Vacuum Breaker; 13" L; 8" Scratch Thread; Rough Brass</i>	UPS GND	52 Each	\$17.89	\$930.28
MHW-VB-5011-ELB <i>Vacuum Breaker Part; Elbow Assembly; with Nuts, Slip Joint & Friction Washers; Rough Brass</i>	UPS GND	52 Each	\$23.02	\$1,197.04
MHW-PLT-1001 <i>Escutcheon; Round; Washer; Backing; 2" OD; 7/8" ID</i>	UPS GND	156 Each	\$4.24	\$661.44
MHW-PLT-1010 <i>Escutcheon; Round; 2-7/8" OD; 7/8" ID; Stainless Steel; Brushed Finish; for Toilets</i>	UPS GND	52 Each	\$6.69	\$347.88
MHW-TB-06P <i>Tubing; Polyethylene; 3/8" OD; 1/4" ID; 1/16" Wall</i>	UPS GND	680 Foot	\$1.28	\$870.40
MHW-CN-08P08P20L <i>Connector; 1/2" FPT; 1/2" FPT; 20" L; Braided Stainless Steel</i>	UPS GND	26 Each	\$8.06	\$209.56
EUC-RKT-3801 <i>Rebuild Kit; for 3700 & 3800 MOMENTUM series 1" Flush Valve</i> *** This item is eligible for quantity discounts! See below for details. ***	UPS GND	5 Each	\$19.76	\$98.80
SLD-0914-002 <i>TruFIRE Solenoid ; 24 VAC; 2' Lead; Blk WT Conn; W/Bleed Plug</i> *** This item is eligible for quantity discounts! See below for details. ***	UPS GND	6 Each	\$26.97	\$161.82

We're just a phone call away!
Voice: (407) 365-6241 • Toll-Free: (800) 240-3578

Visit us online at: <https://www.i-con.com/>



3100 Camp Road • Oviedo, FL 32765

SALES QUOTE

Document Numbers	QTE00023758 / Master 39843
Document Date	12/17/2020
Customer ID	HAYW001
PO Number	
Payment Terms	NET 30
Job Name	Haywood County
Customer Tax ID	

Quote expires on 3/17/2021
Reference Quote Number When Ordering

BILL TO

Haywood County Detention Center
1620 Brown Ave,
Waynesville, NC 28786
United States

Contact: Lt. Bruce Abbott
Phone: (828) 346-2901

SHIP TO

Haywood County Detention Center
1620 Brown Ave,
Waynesville, NC 28786
United States

Contact: Glen Matayabas
Phone: (828) 452-6768

Item Number	Ship. Mthd.	Qty.	Unit Price	Ext. Price
VRK-FVL-MN3200-1.6-S <i>Retrofit Kit; COBALT; Concealed FV; Water Closet; Sloan; 1.6gpf/6.0lpf</i>	UPS GND	17 Each	\$50.39	\$856.63
NTC-CCS-2010 <i>Computer Control System; Mini on 21.5" LED screen; Windows 10 Based; with Envisage Software</i>	UPS GND	1 Each	\$4,680.00	\$4,680.00
NTC-CNI-USB-RFC-1004 <i>I-Con Network Interface; USB; RF; Surface Mount; Powered via USB</i>	UPS GND	1 Each	\$317.18	\$317.18
SRV-ONSITE-NTC <i>Onsite Technician for Envisage System - Does NOT include travel & expenses</i>	UPS GND	2 Days	\$1,000.00	\$2,000.00
SRV-ONSITE-EXPENSES-01 <i>Onsite Technician - Daily Expenses</i>	UPS GND	2 Each	\$350.00	\$700.00
SRV-ONSITE-TRAVEL-01 <i>Onsite Technician - Travel Expenses</i>	UPS GND	1 Each	\$500.00	\$500.00

Notes

Material as quoted qualifies for full freight allowed.

Available Quantity Discounts

	No Discount	5.0% Discount	7.5% Discount	10% Discount
MOMENTUM® Repair Kits	1 to 99	100 to 249	250 to 499	500 or More
All Other Eligible Items	1 to 24	25 to 49	50 to 74	75 or More

The following items are eligible for quantity discounts: 5775 Shower Valve Repair Kits, MOMENTUM® Flush Valve Repair Kits, NEXUS® Controller Battery Packs, TruFIRE® Solenoids, TruTOUCH® Sensors, Vacuum Breaker Repair Kits, and Watertight Extension Cables. Some restrictions apply.

We're just a phone call away!
 Voice: (407) 365-6241 • Toll-Free: (800) 240-3578

 Visit us online at: <https://www.i-con.com/>

Subtotal	\$62,806.66
Miscellaneous	\$0.00
Tax	\$4,396.47
Shipping and Handling	\$0.00
Trade Discount	\$0.00
Total	\$67,203.13

Unless otherwise stated, quote does not include shipping and handling and is FOB Origin, Freight Prepaid and Add.

Terms and Conditions

Prices

Prices of I-CON's products are subject to change without notice. Quotations are conditioned upon acceptance within 90 days unless otherwise expressly stated in the quote and are subject to correction for typographic or clerical errors. All prices quoted exclude sales, use, excise and other taxes. Unless a proper exemption certificate is furnished to I-CON, all such taxes shall be paid by the Buyer to I-CON at the time of payment.

Installers

I-CON may quote all potential installers on any project presented to I-CON. However, notwithstanding anything to the contrary herein, I-CON shall require all installers to become an "I-CON Certified Installer" prior to allowing such installers to place sales orders for I-CON products. Learn more about becoming an I-CON Certified Installer by calling the I-CON customer service department.

Terms and Conditions of Payment

Terms of payment are Net 30 from date of invoice unless otherwise stated. Terms are subject to credit approval. Past due accounts will be subject to a 2% per month service charge from the date of the invoice or the maximum percentage allowed by law, whichever is less. If any proceedings be instructed by or against Buyer under any bankruptcy or insolvency law, or if Buyer shall fail to make timely payment on this or any other order, or if, in I-CON's judgment, Buyer's financial situation justifies such action, I-CON may, at its election, require payment in advance or cancel the order as to any unshipped item and require payment of its reasonable cancellation charges. If Buyer delays completion of manufacture, I-CON may elect to require payment according to percentage of completion. Equipment held for Buyer shall be at Buyer's risk and expense. In all cases, regardless of partial payment, title to the Products shall remain in I-CON until payment for the Products (including any notes given therefore) has been made in full. Should legal action be necessary to enforce payment of an unpaid invoice, the Buyer will assume full responsibility for any court costs and reasonable attorney fees. All credit card orders are subject to approval prior to shipment.

Minimum Order Amount

Minimum invoice amount is \$50.00.

Delivery

Domestic shipments within the USA are F.O.B. Origin, Freight Prepaid & Add from factory, or other designated shipping point determined by I-CON. International shipments are F.C.A. Oviedo, Florida, USA. Any shipment or delivery dates quoted by I-CON are estimated. I-CON shall be obligated to use reasonable efforts to meet such dates. I-CON will in no event be liable for any delays in delivery or failure to give notice of delay, or for any other failure to perform hereunder. I-CON will be entitled to refuse to make, or to delay any shipments of its products if Buyer shall fail to pay when due any payment owed by it to I-CON, whether under this or any other contract between I-CON and Buyer.

Claims and Shortages

F.O.B. factory shipments are the full responsibility of the Buyer. Losses or damages must be reported to the carrier immediately. I-CON will file freight claims on FFA orders if the Buyer complies with the following within (5) five days of receipt of shipment; inspect shipment immediately, have delivering carrier inspect shipment, file inspection report with carrier, and send a copy to I-CON. No claim for failure to receive shipment or shortage will be honored unless I-CON is notified immediately upon receipt of invoice or within five working days of receipt of shipment, whichever is sooner.

Return Materials Authorization

No materials shall be returned without a Return Materials Authorization (RMA) from I-CON's customer service department. Returns must reference the RMA number and be shipped freight prepaid or the shipment will not be accepted. Returns for credit shall be subject to a 25% handling/re-stocking charge. Any cost associated with restoring product to saleable condition will be deducted from the credit along with any outgoing freight charges paid by I-CON. Non-stock, custom fabrications, and stainless steel fixtures and equipment are non-returnable. An RMA credit will not be issued for less than \$100.00 unless material is proven defective.

Specifications

I-CON has made reasonable efforts to quote its products which are equal or superior to those specified by Buyer or other third party, and such quote is based on I-CON's interpretation of the specifications provided. Therefore, I-CON is not liable for any discrepancies related to the foregoing. I-CON cannot guarantee or ensure the approval of its products by any architects, engineers, or owners, and I-CON hereby refers Buyer to such professionals for their direct approval. Any pricing provided by I-CON related to a pre-determined specification, is based on the quantities, models, and options listed on the plans and specifications provided to I-CON, and any modifications, amendments or additions thereto, shall require a revised quote from I-CON. I-CON may require approved submittals to be provided to I-CON's engineering department in writing before a sales order will be accepted. All products are subject to change without notice. Unless stated in the purchase order, material will be furnished per the design in effect at the time the order is filled. Field dimensions must be submitted in writing and are the full responsibility of the Buyer. Changes in specifications or cancellations must be submitted in writing to I-CON for review, and the Buyer shall be subject to charges incurred due to the extent of the change or cancellation. Non-stock and custom fabrications are not subject to cancellation.

Limited Warranty

See I-CON's official Limited Warranty Coverage. Any extended warranties provided by I-CON, and purchased by Buyer, shall be as noted on the quotation and/or sales order.

Approved and Accepted by Buyer *(Sign and Return)*

QTE00023758

Company: _____ Print Name: _____

Title: _____ Signature: _____ Date: _____

Payment Method

Purchase Order: _____ Credit Card (Provide when order is placed)

// PLEASE VERIFY THAT THE BILL TO AND SHIP TO INFORMATION LISTED ON THE QUOTE IS CORRECT BEFORE PLACING ORDER //

We're just a phone call away!
Voice: (407) 365-6241 • Toll-Free: (800) 240-3578

Visit us online at: <https://www.i-con.com/>